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POSCAR
[ )

New structure

1.0

8.0827999115 0.0000000000 0.0000000000

0.0000000000 8.0827999115 0.0000000000

0.0000000000 0.0000000000 8.0827999115

32
Direct
0.000000000 0.000000000 0.000000000
0.000000000 0.000000000 0.500000000
0.000000000 0.500000000 0.000000000
0.000000000 0.500000000 0.500000000
0.500000000 0.000000000 0.000000000
0.500000000 0.000000000 0.500000000
0.500000000 0.500000000 0.000000000
0.250000000 0.250000000 0.000000000
0.250000000 0.250000000 0.500000000
0.250000000 0.750000000 0.000000000
0.250000000 0.750000000 0.500000000
0.750000000 0.250000000 0.000000000
0.750000000 0.250000000 0.500000000
0.750000000 0.750000000 0.000000000
0.750000000 0.750000000 0.500000000
0.250000000 0.000000000 0.250000000
0.250000000 0.000000000 0.750000000
0.250000000 0.500000000 0.250000000
0.250000000 0.500000000 0.750000000
0.750000000 0.000000000 0.250000000
0.750000000 0.000000000 0.750000000
0.750000000 0.500000000 0.250000000
0.750000000 0.500000000 0.750000000
0.000000000 0.250000000 0.250000000
0.000000000 0.250000000 0.750000000
0.000000000 0.750000000 0.250000000
0.000000000 0.750000000 0.750000000
0.500000000 0.250000000 0.250000000
0.500000000 0.250000000 0.750000000
0.500000000 0.750000000 0.250000000
0.500000000 0.750000000 0.750000000
\¥ 0.550000000 0.500000000 0.500000000 ‘/

3.2.2 OUTCAR

pseudoVASPO OO OO0 O POSCARO OO Lennard-Jones 000000 OO
O0O000DOO0O00O0O0OoOUTCARODDODOODODOOODODOOODOOUTCARDODOO
goooooodooooodonooboooooodoooonoooooogd
gooobooobooooooboobooboobooboooooooooogad
00000000000 000 OUTCARODODOODOOOOOOUTCAROO
0000 pseudoVASPO O OOOOODOOODOOOOOUTCAROODOOODOOO
gooooooooooooooouoooooooooooooooogg
ogodooboooooobooooooooooooooooooooa
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-~

1.0

FREE ENERGIE OF THE ION-ELECTRON (eV)

OUTCAR

POSITION

free energy TOTEN =

-31.9063879 eV

TOTAL-FORCE (eV/Angst)

.123203
.121941
.125222
.128122
.623777
.625498
.627033
.374906
.375369
.375140
.374769
.877189
877277
.873387
.875133
.372494
.373307
.375710
.377438
.874227
.876419
.874511
.875285
.126996
.122335
.125756
.121574
.626170
.626864
.621798
.623549
.626630

OO OO0 O0OO0ODO0ODO0OODO0ODO0ODO0OO0DODODODOO0ODO0ODOO0OO0OOOOOOOOO

o

N

OO OO OO0 O0ODODODODO0ODODODODODODODODODODOOOO0OOOOOOOo

o

.124117
.123512
.622660
.623898
.127921
.123358
.623055
.372410
.373946
.877187
.875992
.371112
.374436
.875555
.871819
.124559
.124693
.625578
.622461
.122147
.124713
.624836
.623618
.374744
.374161
.874010
.872396
.380409
.372057
.874515
.876717
.626144
Total CPU time used:

.126056
.626011
.122869
.623754
.126610
.626233
.124399
.123792
.622522
.122329
.626016
.127299
.620545
.127754
.622777
.374708
.874685
.373098
.877075
.374275
.874920
.370852
.875071
.373003
.871542
.373508
.875845
.375263
.873377
.378008
.874637
.610806

OO O O0OO0OO0ODO0OOO0ODO0ODO0ODO0ODODO0OO0ODODO0ODO0ODO0ODODODO0ODOOO0OO0OOOOOOO

-0.
.020458
.002251
.039535
.004010
.012087
.002530
.034366
.040894
.047015
-0.
.007925
.054884
.010860
.064123
.002957
.010350
.050897
.107245
.057057
.029081
.065426
.001583
.060206
.033997
.005031
.033220
.058770
.034123

o

0.038471
0.
0.007231

055840

042219

013387

0.01596

.008999
.009511
.028180
.017667
.062782
.045098
.037572
.040637
.004768
.056693
.037437
.060167
.017491
.018123
.026394
.008072
.016863
.000257
.022297
.041520
.031019
.009313
.000814
.004304
.004203
.014409
.021012
.208201
.068308
.082537
.065743
.033809

.045972
.048882
.021592
.001052
.010191
.054358
.026853
.002524
.042929
.042680
.007037
.061609
.041155
.071542
.036722
.021112
.012869
.050447
.089424
.043740
.002753
.020719
.043111
.033080
.054362
.016764
.015583
.063661
.022128
.148995
.003871
.381277

3.3 [0O0O0O0O rotation [ [

gbodgbbooboobodbudgbudbuobuooboibbdd rotation U

gobboboogoboood

3.3.1

oboobOoboboobOobopPObDObDODOOUOOxUDOPOODOD
0000dx0000 xoxdx0O0OO0O0O0O0O0O0O xUOO0O0000 (moment) 00O

googgn

oooooggo
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dx0O | dy (3.5)

O00000xy =xoxdxO0OOOODO

Yodz — zpdy
x10 | zodx — z9dz (3.6)
Tody — yodx

gobboboooobbbuoooobbboooobbixybboogooobog
000000 (03400000 x,0000000000000000O00OOO

goaon
dx

nd

R= 0

0340000000000

gbooboboobooboboobbooboobobbboobbuoobobo
gobbobudr rotation 0000000 onon

UboobooboobioOl rotation O OO0OODOO
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l. ggbbbuoooobbbooooboobobbbuooobobobo

2. 000000000000030000000000002000y000z
000100000 de,dy,d>00000000

. 0bbugoobbboooobobbuoobbbooooboobobogb

4. 00 dz,dy,dz 00000000 0O0OODOOOODOOOODOOODOOODOO
gboboubbodgbbuoobobooobbodobbaobboobbodooo
gobbboogobboboooobood

0000000000 rotation0 00000000000 (constraint) D000
0000 (non-constraint) 000 00000000000

34 UOO0OOOOO

Frenkel OO0 ODOOOO0O0ODOODOOOO0OODODOOOOODODODODOOOOD
O000O0OO0000oOoOogg pseudoVASPOOOOOOOOOO0O0O0O0OOO Ein-
stemU0 00000000000 0O0O0O0O00OOUO0O0O0O0OOO0O0bLDObOO0O0n
gbooobooboobbuoobboobboobd TransitionDOOOOOO
gogooobod

3.4.1 pseudoVASP

O00000000000000000000000000 pseudo(d O )VASPO
000 000000000000 000000O VASPOOOOOOOOOODO
gbbuogboboooobooooobboobbuoobbuooboobobooobn
gogobobboooooobbbobbodoooooobobobbbooooooo
000000 VASPOOOODOOOOODOOOOODOOODOOpseudoVASPOO
VASPOOODOOOOOOODOODODODODOOOOOODODODODOOOobDOoDbDOoD
OO0000DOO0O0000OpsendoVASPOOOOOOOOOODOOOOODODOO
0000000000000 00D00000 pseudoVASPOODOODOODOOODO
goog

1. POSCARODODOOODOOODOOOO
2. 0000bdodboobuooboobooboobobobobobooboob
3. Lennard-Jones 00O OOOO0OO0OOOOOOO

4. 0000000000000 00DOforce OO
(000000000 foree000OO0O)
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5. 000 OUTCAROOOOODO

goboboogg3dsbogan

( B4 )

!

|  POSCAR #HHEXD |

|

| FA/S—URMER

|

| TRILE—HE |

!

| T —ZFHE |

|

| outcar TS |

|

( #T )

O 3.5: pseudoVASP OO O0OD0OO0OO0OOODOOOO

3.4.2 Einstein

ggobboobbooooooobobbboodooooboboboobboogg
gbooobobooobo0obOoU Enstemd0D0O0O0D0OO0OD0OO0OOOOOOOO
goooon

1. ALPOSCARDO POSCAROOOODOOOOOOODOOOODO
2. 0000000 (site) 0000000 dxOdyDdz0O0O0OO

3.00site000000000000 ei=—1.0+1/2.0k(d2?+ dy? + dz2) O
0ooooo

4. 0000siteD0000000O0O0ODODODODOO etotal = sum(ei) —32.000
gogbbbooogbbbodgo
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O000e000000O00OO0O0O0OOOORKOODOODODODODODOD
goggbobbobboudoooobbobbooooobobbuooooooo
00000000000 ds00000000000000O0O00O0O0ODO (O 3.1)0

0 3.1: dis/E
[ dis | E |
-0.01 [-31.9977973
-0.008 | -31.9985911
-0.006 | -31.9992078
-0.004 | -31.999648
-0.002 | -31.999912
0 -32.0
0.002 | -31.999912
0.004 | -31.999648
0.006 | -31.9992078
0.008 | -31.9985911
0.01 |-31.9977973

gobboobouoogbbobooooboo3detbnn
gobbobooodoaboo

y = 22.032° + 1.106 E — 122 — 32 (3.7)
Ooo0o000oo

y = 1/2ka* — 32 (3.8)
000000000000 x0y0OODODODODODDODkOOOOOOOODO

y = 22.032% + 1.106 E — 12z (3.9)
ooo
y = 1/2ka? (3.10)
Dooo00oo
y = 22.02622378x% — 32.00000036 (3.11)

ggboobooodg bod
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Dis

0.010 0.005 0 0.005 0.010

319980
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000000
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(3.13)
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gogobbobbbotdswte0000D0ODODOOOO0O0O0O0O0O0ODO0OO sitel

goooog

ei = —1.0 4 1/2.0 x 44.06 x (dz? + dy® + d2?)
000o00Dooooon
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T
'result.txt’ using 1:7 ———
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Oo0ddobd0dooooouoobd0oboo0noUd constraint 000000
goddobodooooooooooooooooooaa

good430000000o0nooooobooonouooooboooooooa
Transition D D 0000000000 O0O0OO0O0O0O0O0O0OOOOOOOOOOO0O0O
O0dddooooboboooax=1o000b0b0b0b0000000o0oooooooO
O0doooo0oooooo0ooooooa=09000000000O00O00O0
O00OTransition 0000000000 0OOO0OOOOOOOOOOOO

O00Transition 0 000000000000 O0OO0OO0O 5.100 Transition
0X=1.000000000000000 du/d\ = Evasp — Eginstend 0 00 u =
AEvasp + (1 = A Eginsten 1000000

dodoboobooooouoouooooooooooooobooonoa
000000000000 AILPOSCARODOOODOODOO TransitionO DO OOO0O
0000000000000 000D0O000 POSCARODOOOOO AILPOSCAR
000000000000 0000000 520000A1.POSCAROOOO [0.5,
0.5, 0.5]0 POSCAR O OO0 [0.488..., 0.498..., 0.496..]0 00000 0.0100.02
0000000000000 0AILPOSCARO POSCAROOOODOOOODO OO
O00000dbOdOrotationd constraint 0 D OO0 ODOODOOOOOOOOO
O00O0O0OOrotation0 0000000000 (deift) 0000000000000
Jddddddddddd0ododd0oooo pPOSCAROOOOOOOO
rotation D0 OO0 drift 000000000 DOO0OODOOOOOOOO0O

D00 x=1l0000000000000000DO0DO000O0O0000O0O dies O
0.040000 Transition OO OOOOOO 300000000000 OOOO
gbodoboobooooouoobooboobooooooooouooooaa
Oofddodoodoooddoooooboooooooooooooooooon
0000533800 0000000 s34l 00000 oouooooooooo
54000 0000000000000 000OVESTADOOODOOOODOOO 20
godooboooboooboooooooooo s.s00 5600 5.70000
Oo0000d0doo0o0ddddEnsteimn0 000000000 0O0O0OOOOOO0O
O00do0o0o0odobo0oooooobooooo0ooooobooboooooooaon

29



T T
'C_transition0.05_100000_0.005_1 0.txt' using 1:2 ———
'C_transition0.05_100000_0 005_1 0.txt' using 1:3 ——

0 5.1: dis=0.0000A=1.00 Transition0 000000000000 O0O0OOO0O
gogbbOnuooobbbooonobbogo

/Users/HOSOMIN/Desktop/2@14_@1% ruby serchBalance.rb AL_POSCAR
0.500000 ©.S00000 ©.5000007
/Users/HOSOMIN/Desktop/2@14_@1% ruby serchBalance.rb POSCAR
0.488392 @.498089 ©.4963617
/Users/HOSOMIN/Desktop/2@14_@1% ruby serchMoment.rb POSCAR
Total moments of the system:

0.0000000005 ©.9000000015 _ -9.0000000007

052 000000000000000O0ALPOSCARDO POSCAROOODOOO
OO0O0O0O0OPOSCARDO constraint 00000 OOOODOOOODOOOOO0OO
O00000D0obOoboOo AlLPOSCAROOODOODOODOoOIODODODOODOODO
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53816 -29.9109906000 -68. 0595256800
53817 -29.8444991000 -59.9876435000
53818 -29.8743866008 -68.1653867008
53819 -29.8398965008 -68. 2166234808
53820 -29. 8028697000 -68. 1998725608
53821 -29. 7683056000 -60.0675625008
53822 -29. 7442055008 -0 . 0421645008
53823 -29.8725732008 -6@. 5887775008
53824 -29.8411196008 -68. 2198764008
53825 -29.8453893000 -60.0482682000
53826 -29.8615663000 -59.924 8908000
53827 -29.8244789008 -68. 0875139008
53828  -70 R7P7VARGAN 0 -59 9R7ISOHIANA
53829 -29.8655185000 -6130@. 7919789000
53830 -29.8785315000 -5299.43@3528000
53831 -29.9919084000 -3163. 8387730000
53832 -29.9086596008 -3113.@9988 85800
53833 -29.90967990080 -4830.02223410080
53834 -29.8998383000 -2587. 2986877000
53835 -29.8954603000 -9460.5473352000
53836 -29.8318976008 -5915.5842 734800
53837 -29.7596809008 -3675.4145944800
53838 -29.7012908000 -2827. 89306092000
53839 -29.7768824000 -1266.43@9871060
53848 -29.7344735000 -566.2376313000
53841 -29.7673023008 -61.4220349008
53847 -Z9.65159/6009 | -bl.l/J186380@
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53844 -29.7319990000 -61.1245195000
53845 -29.7198612008 -61.0826363008
53846 -29.7343159008 -61.4837133008
53847 -29. 7205902008 -61.2705259008
53848 -29.7241862000 -61.4937486000
-29.7564533008 -61.4652453008

53849

O 5.4: dis=0.004 =1.0000000000000000DOOOO0ODO0OOOD
000000000000 u= AEyasp+(1—A) Eginstein Jdu/d\ = Evasp — Eginstein
ggooobod
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0 OA 00000

gobbobouooobobbooooboobooon

A.0.1 mc Transition.rb

ggbobbbobbuoooooobbbbbouoooooobobobb
o000 ToooOOoOnbOoO00bO0O0 dsObOooooogoon
000000000 XNOOO0O000000000000000 /result
gogboobooogd

# —*%- coding: utf-8 —*-
include Math

require "pp"

require "./initial_cPOSCAR.rb"

puts "T="
T=gets.chomp.to_f

puts "n="
n_max=gets.chomp.to_i

puts "Dis="
d_max=gets.chomp.to_f

puts "Lambda="
$lambda=gets.chomp.to_f

$n_multi=1
start = Time.now #0000

dEdl = []

def get_str_OUTCAR(x,str) #OUTCARO OO O OOOOOO
outcar=[]
iter=0
number=0
energyCalc=str
File.open("OUTCAR_#{energyCalc}") .each do |linel|
outcar.push(linel)

iter+=1

if Regexp.new(x) =" linel
number = iter

end

end

outcar.slice! (0, number)
return outcar
end

def get_energy OUTCAR(str) #OUTCARO OO DO OOOODOOOO
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outcar=get_str_OUTCAR("ION-ELECTRON",str)
return outcar[1].split(" ") [4].to_f
end

def Energy(str) #POSCARO OO OODOOOO

energyCalc=str

system("rm -rf OUTCAR_#{energyCalcl}")

system("ruby #{energyCalc}.rb POSCAR > OUTCAR_#{energyCalc}")
return get_energy_OUTCAR(energyCalc)

end
def energy
ev=Energy ("pseudoVASP")
ee=Energy("Einstein")
return [$lambdaxev+(1-$lambda)*ee,ev,ee]
end

set_newPOSCAR (d_max)
energy_before = energy()
n_max.times do |il

if i\%(n_max/10)==0 then printf(".") end
system("cp -f POSCAR sub_POSCAR")

make_newPOSCAR()
make_cancelingPOSCAR() #canceling_POSCAR OO

system("cp -f canceling_POSCAR POSCAR")
energy_new = energy()
dE = energy_new[0] - energy_before[0] #0 0O 0O0OOOOODOOOO

if rand()<exp(-dE/T) then
dEdl << energy_new[1]-energy_new[2]
energy_before = energy_new
else
system("cp -f sub_POSCAR POSCAR")
end
end

printf("\n 000 :\%10.5f\n",dEdl.length/n_max.to_f)

File.open("./result/C_transition" + T.to_s + "_" + n_max.to_s + "_" + d_max.to_s + "_" + $lambda.to_s + ".txt","w"){|£fil
dEdl.each do |tmpl
file.puts(tmp)

end

}

File.open("./result/C_transition_result_" + T.to_s + "_" + n_max.to_s + "_" + d_max.to_s + "_" + $lambda.to_s + ".txt",'
file.puts(dEdl.length/n_max.to_f)

¥

stop=Time.now #O OO0
printf("\n 0000 (sec):\%10.5f\n", stop-start)

#$t0=Time.now

#system("gnuplot command_nvtMC_plot.gpl")
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A.0.2 POSCAROODO

O00O00oOooobOonb Alg POSCARODDOUOOOODOODOODO

initial cPOSCAR.rb

# —*%- coding: utf-8 -*
include Math

require ’./analysis2.rb’
require ’./analysis3.rb’
require ’./jordanpivot.rb’
require "pp

n_arng = []

def get_volume
vec_a = []
vec_b = []
vec_c = []

vec_a=$poscar_text[2] .split(nil)#0 00000
vec_b=$poscar_text[3].split(nil)
vec_c=$poscar_text[4].split(nil)

a_x = vec_a[0].to_f

= vec_a[1].to_f

= vec_al[2].to_f

vec_b[0].to_f

vec_b[1] .to_f

vec_b[2].to_f

vec_c[0].to_f

vec_c[1] .to_f

c_z = vec_c[2].to_f
volume=(a_x*b_y*c_z)+(a_y*b_z*c_x)+(a_z*b_x*c_y) - (a_x*b_z*c_y) - (a_y*b_x*c_z) - (a_z*b_y*c_x)
return volume

end

nnU‘lc"U'INIQ’
<M NS X N<
]

def get_distance #0 OO OO00OO0O0OO0OO0OOO0OOO00OO
r_3=(get_volume () /$poscar_text[5].to_£)/(4*PI/3)
r=r_3%x(1.0/3.0)

return r

end

def set_newPOSCAR(d_max)
$d_max=d_max

system("cp A1_POSCAR POSCAR")
text = []

file =File.open("POSCAR","r")
file.each do |f|

text << £

end

$poscar_text = text
$init_vals = []

p $init_vals << get_distance/(get_volume**(1.0/3.0))*$d_max

end

def read_POSCAR()

text = []

file =File.open("POSCAR","r")
file.each do |f|

text << f
end

return text
end

40



def periodic_mv(pos,dd)

for i in 0..2
pos[il=pos[i].to_f
pos[il+=dd[i] #0 000000
if pos[i] > 1.0 then

pos[il-=1.0

elsif pos[i] < 0.0 then
pos[il+=1.0

end

end

end

def write_new_POSCAR(ajs,poss,text)
poss.each_with_index do |ele,il
text[ajs[il]l=sprintf ("%16.9f %19.9f %19.9f\n",ele[0],elel1],ele[2])#aj O text 00O
end
n_P = File.open("new_POSCAR","w")#new_POSCAR 0 OO0

text.each do |elel

n_P << ele

end
n_P.close
end

def make_newPOSCAR
ajs,poss,dds = [1,[],[]
text = read_POSCAR()
32.times {lil

aj=i+1+6 #0 00000
ajs << aj

pos=text[aj].split(nil)

da=[]

3.times { dd<<(2.0*rand()-1.0)*$init_vals[0] }
dds << dd

periodic_mv(pos,dd)
poss<<[pos[0],pos[1],pos[2]]

}
write_new_POSCAR(ajs,poss,text)
system("cp new_POSCAR POSCAR")

system("cp POSCAR first_POSCAR")

end

def CrossProduct(a,b)
c=[0.0, 0.0, 0.0]

c[0]=a[1]*b[2]-a[2]*b[1]
c[1]=a[2]*b[0]-a[0]*b[2]
c[2]=a[0]*b[1]1-a[1]*b[0]

return c
end

def rewrite_cancelingPOSCAR(chose,tmp)

text = read_POSCAR()
ajs,poss=[],[]
cnt=0

32.times {lil
aj=i+1+6
pos=text[aj].split(nil)
ajs << aj
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if i==chose[0] then
pos [0]=tmp [0]

elsif i==chose[1] then
pos[1]1=tmp[1]

elsif i==chose[2] then
pos [2]=tmp[2]

end

poss<<[pos[0],pos[1],pos[2]]
}

poss.each_with_index do |ele,il
text[ajs[i]]=sprintf ("\%16.9f \%19.9f \%19.9f\n",ele[0],ele[1],ele[2])
end

n_P = File.open("canceling_ POSCAR","w")#canceling POSCAR U0 00O
text.each dolelel
n_P << ele
end
n_P.close
end

def make_cancelingPOSCAR()

#puts "O00 000000000000 OOCOOOOODOOOOOOOOr
#$d_max=max

center,s_rxf,poss,dds=getShiftMoment ("POSCAR","A1l_POSCAR")

#shift_POSCAR(center)
#center,s_rxf,poss,dds=getShiftMoment ("POSCAR","A1_POSCAR")

xyz=nil
while xyz==nil do

ai=rand(32)
while true
temp=rand (32)
if temp!=ai
aj=temp
break

end

end

while true

temp=rand (32)

if temp!=ai&&temp!=aj
ak=temp

break

end

end

posi=poss[ail
ddi=dds[ai]
posj=poss[aj]
ddj=dds[aj]
posk=poss [ak]
ddk=dds [ak]

cc=[0.5, 0.5, 0.5]
ddii=[1, ddi[1], ddi[2]]

ddjj=[ddj[0l, 1, ddj[21]
ddkk=[ddk[0], ddk[1], 1]
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posi_c=[posi[0]-cc[0], posil[1]l-cc[1], posi[2]-cc[2]]
posj_c=[posj[0]-cc[0], posjl[1]l-cc[1], posj[2]-cc[2]]
posk_c=[posk[0]-cc[0], posk[1]-cc[1], posk[2]-cc[2]]

# p posi_c
# p posj_c
# p posk_c

cp_posidd=CrossProduct (posi_c, ddi)
cp_posjdd=CrossProduct (posj_c, ddj)
cp_poskdd=CrossProduct (posk_c, ddk)

# p cp_posidd
# p cp_posjdd
# p cp_poskdd

ci=s_rxf [0]+posj_c[1]*ddjj[2]-cp_posjdd[0]-posk_c[2]*ddkk[1]-cp_poskdd[0]
cj=s_rxf[1]-posi_c[0]*ddii[2]-cp_posidd[1]+posk_c[2]*ddkk[0]-cp_poskdd[1]
ck=s_rxf [2]+posi_c[0]*ddii[1]-cp_posidd[2]-posj_c[1]1*ddjj[0]-cp_posjdd[2]
cdxi = 0

cdyi = -posj_c[2]

cdzi = posk_c[1]

cdxj = posi_c[2]
cdyj = 0
cdzj = -posk_c[0]

cdxk = -posi_c[1]
cdyk = posj_c[0]
cdzk 0

xyz = gaussjordanpivot([[cdxi, cdyi, cdzi, -cil, [cdxj, cdyj, cdzj, -cjl, [cdxk, cdyk, cdzk, -ckl])
#p "!xyz=", xyz

end
xyz = [sprintf("%19.8f",xyz[0]).to_f, sprintf("%19.8f",xyz[1]).to_f, sprintf("%19.8f",xyz[2]).to_f]

dx_tmp=posi[0] +xyz[0]
dy_tmp=posj [1]+xyz[1]
dz_tmp=posk [2] +xyz [2]

chose=[ai,aj,ak]
tmp=[dx_tmp, dy_tmp, dz_tmp]

rewrite_cancelingPOSCAR(chose, tmp)
analysisMoment ("canceling_ POSCAR","Al_POSCAR")

end

A.03 0O0OO0ODOOOODO

Oob00o0o0ooO0oobOo0oooO0o0ooO0oobOOb0 EAMOODODODOODOOOD
00000 pseudoVASPOO ODODOODODOODODOODOODOOD Einstein OO
goon

pseudoVASP.rb

pseudoVASPO OO OO OO
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# —-*- coding: utf-8 -x-
include Math
require ’pp’

$m = 1.000
$lattice=[[0.0,0.0,0.0],[0.0,0.0,0.0],[0.0,0.0,0.0]]
$whole_scale

$cutoff = 4.0% 0.8

class Atom
attr_accessor :pos, :nl

def initialize(pos)
@nl=[]
@pos=Array.new(pos)
end

def energy()
return 1j_energy() #Lennard-Jones
end

def force()
return 1j_force()
end

def reset_nl()
@nl=[]
end

A0=1.587401051%0.7071067812/2.857701314;
#EO=-1%4.0/12.0%3.39
E0=-1%4.0/12.0

def 1j_energy ()#LJP
ene=0.0
nl.each do |jl
r=distance(@pos,$atom_list[j].pos)
a=1.0/(AO*r)
ene+=E0* ((a**6)-(a**12))
end
return ene
end

def 1j_force()
£=[0.0,0.0,0.0]
nl.each do |jl
x,y,z=f_distance(@pos,$atom_list[j].pos)
T=Xkk2+y*k2+z% %2
dedr=-EO0* (12/ (AO**12x (r) #*7) -6/ (AO**6* (r) **4) )
f[0] += x*dedr
f[1] += y*dedr
£[2] += zxdedr
end
3.times do |il printf("\%10.6f",pos[il/$lattice[i][i]) end
3.times do |il printf("\%10.6£f",f[i]) end
printf("\n")
return f
end
end

def makeLattice()
file = open(ARGV[0])
atom_list=[]
sw=false
iline=0
while line = file.gets do
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iline+=1

if iline==2 then
$whole_scale=line.chomp.to_f

end

if (iline==3 or iline==4 or iline==5) then

latO=1line.chomp.split (" ")
latO.each.with_index do |vec,il
$lattice[iline-3][i] = vec.to_f
end
end

if /Direct/ =7 line then
sw=true
elsif sw then
posO=line.chomp.split(" ")
posi=[]
posO.each do |pos2|
posl << pos2.to_f*$lattice[0] [0]*$whole_scale
# posl << pos2.to_f
end

atom_list << Atom.new(posl)
end
end
file.close
p $lattice
p $whole_scale
return atom_list
end

$L=[2,2,2]

def distance(a,b)

r=0.0

for i in 0..2 do
x=al[i]-b[i]
x=x-(x/$lattice[i] [i]) .round*$lattice[i] [i]
r+=X*X

end

return sqrt(r)

end

def f_distance(a,b)

t=[]

for i in 0..2 do
x=al[i]-b[il]
x=x-(x/$lattice[i] [i]) .round*$lattice[i] [i]
t << x

end

return t

end

def Atom_index
atom_index=[]
$atom_list.each_with_index do |i_a,idx|
atom_index << idx
end
return atom_index
end

def makeNL()
$atom_list.each do |ail ai.reset_nl end
nmax=$atom_list.length-1
for i in O..nmax do
ai=$atom_list[i]
for j in i+1..nmax do
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aj=$atom_list[j]

if distance(ai.pos,aj.pos)<$cutoff then
ai.nl << j
aj.nl << i

end

end
end
end

def total_EQ)
total_E=0.0
$atom_index.each do |il
total_E+=$atom_list[i].energy()
end
return total_E
end

def force_all()
$atom_index.each do |il
$atom_list[i].force()
end
return
end

t0=Time.now

$atom_list=makeLattice()

$atom_index=Atom_index ()

makeNL ()

printf ("FREE ENERGIE OF THE ION-ELECTRON (eV)\n")

printf (" \n")
printf("free energy TOTEN = ")

printf ("\%10.7f eV\n\n",total _EQ))

printf ("POSITION TOTAL-FORCE (eV/Angst)\n")
printf (" \n")
force_all()

printf ("Total CPU time used: \%10.5f\n" ,Time.now-t0)

Einstein.rb

0000000 0OEnstemO000000O00O00OO0O0O

# —*- coding: utf-8 —*-
include Math
require ’pp’

$m = 1.000
$lattice=[[0.0,0.0,0.0],[0.0,0.0,0.0],[0.0,0.0,0.0]]
$whole_scale

$cutoff = 4.0* 0.8

class Atom
attr_accessor :pos, :nl, :num

def initialize(pos,i)

@num=i
enl=[]
@pos=Array.new(pos)
end

def energy()
return einstein_energy() #Einstein
end
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def force()
return 1j_force()
end

def reset_nl()
@enl=[]
end

A0=1.587401051%0.7071067812/2.857701314;
#E0=-1%4.0/12.0%3.39
E0=-1%4.0/12.0

KK=8%44.06

def einstein_energy()
dx=@pos [0]-$atom_listO[@num] .pos[0]
dy=@pos[1]-$atom_listO[@num] .pos[1]
dz=@pos [2] -$atom_1ist0[OGnum] . pos[2]
dd2=dx*dx+dy*dy+dz*dz
return ei=1/2.0%KK*dd2-1.0
end

def 1j_force()

£=[0.0,0.0,0.0]

3.times do |il printf("\%10.6£f",pos[i]l/$lattice[i][i]) end
3.times do |i| printf("\%10.6f",f[i]) end

printf("\n")

return f

end

end
def makeLattice(file_name)

file = open(file_name)
atom_list=[]

sw=false
iline=0
iatom=0
while line = file.gets do
iline+=1

if iline==2 then
$whole_scale=line.chomp.to_f

end

if (iline==3 or iline==4 or iline==5) then
latO=line.chomp.split(" ")
latO.each.with_index do |vec,il
$lattice[iline-3][i] = vec.to_f

end

end

if /Direct/ =7 line then

sw=true

elsif sw then

posO=line.chomp.split(" ")

posi=[]

posO.each do |pos2|

posl << pos2.to_f

end

atom_list << Atom.new(posl,iatom)
iatom+=1

end

end

file.close

p $lattice

p $whole_scale

return atom_list
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end
$L=[2,2,2]

def distance(a,b)

r=0.0

for i in 0..2 do

x=al[i]-b[i]
x=x-(x/$lattice[i] [i]) .round*$lattice[i] [i]
T+=X*X

end

return sqrt(r)

end

def f_distance(a,b)

t=[1

for i in 0..2 do

x=a[il-b[i]
x=x-(x/$lattice[i] [i]) .round*$lattice[i] [i]
t << x

end

return t

end

def Atom_index

atom_index=[]
$atom_list.each_with_index do |i_a,idx|
atom_index << idx

end

return atom_index

end

def makeNL()
return
end

def total_E()
total_E=0.0
$atom_index.each do |il
total_E+=$atom_list[i].energy ()

end
return total_E
end

def force_all()
$atom_index.each do |il
$atom_list[i] .force()
end

return

end

t0=Time.now
$atom_list=makeLattice(ARGV[0])
$atom_listO=makeLattice(’Al1_POSCAR’)
$atom_index=Atom_index ()

makeNL ()

printf ("FREE ENERGIE OF THE ION-ELECTRON (eV)\n")

printf (" \n")
printf ("free energy TOTEN = ")

printf ("\%10.7f eV\n\n",total_E())

printf ("POSITION TOTAL-FORCE (eV/Angst)\n")
printf (" \n")
force_all()

printf ("Total CPU time used: \%10.5f\n",Time.now-t0)
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constraint.mw

OO0 constraint OO OO0O0O0O00O00O00OO0O MapleOOODOODOO

>restart;

>cc:=Vector([0.5,0.5,0.5]):

>rxf:=Vector ([ 0.0004089012, 0.0000018379, -0.0001244011]):
>pl:=Vector ([ 0.8750000000, 0.1250000000, 0.37500000001]) :

>f10:=Vector ([ -0.0000053570, -0.0001813910, -0.0000237270]):
>f1l:=Vector([dx, -0.0001813910, =-0.0000237270]):

>p2:=Vector ([ 0.1250000000, 0.8750000000, 0.8750000000] ) :

>£f20:=Vector ([ 0.0001444470, -0.0000486220, =-0.0000577100]):
>f2:=Vector ([ 0.0001444470,dy, -0.0000577100]):

>p3:=Vector ([ 0.1250000000, 0.1250000000, 0.12500000001]) :

>£30:=Vector ([ 0.0000235240, 0.0001876580, 0.0000114410]):
>f3:=Vector ([ 0.0000235240, 0.0001876580,dz]) :

>with(LinearAlgebra) :

>dd:=Vector([dx,dy,dz]);

>pf1:=CrossProduct (pi-cc,f1)-CrossProduct (pil-cc,£10);
>pf2:=CrossProduct (p2-cc,f2)-CrossProduct (p2-cc,£20) ;
>p£3:=CrossProduct (p3-cc, £3) -CrossProduct (p3-cc,£30) ;

>eql:={seq(pf1[il+pf2[il+pf3[il+rxf[i]=0,i=1..3)};

>s1:=solve(eql,{dx,dy,dz});
{dx = 0.001064923400, dy = 0.0006899221333, dz = 0.0003633000667}
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